1.

T4 A9 B+ dYigol 2 A7F B Hrh 9
ool

By

=
e 2

o, A o]



@ Aol g A A1 oleh,

©® a7t Felgd W, Ugol a o = P 2 Mol



o A
]-’ET

z
&

SollA 71

she?

o A
a T
?_

o

=

3.




K



™M I

o)

ol N



6. -(-2)2x3=-5, (-3%)+B+8=11 ¥4 W, A-B o] gro=2 &

A
A2?

® 15 @ 16 3 17 @ 18 ® 19






A4 a, b ol Histe] ol

=

.

=
e

a®b=a+b-17
aob=a-b+2

{-ne(+3)}e{(-2)e(-4)} ° g& Fslofet.

B
.



29

b-c 9 gk
a -+



10. thg2 Atatela,
(1-3) (4 56) < (1-5) (1) x (-3)
(4 55) %o (1-55) (143)
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101=0,102=-1,202=2,203=1
404 =12, 505 =120, 506 = 19, 10010 = 90
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